
Cotton Puller Parts List: 1

Parts List

Cotton Puller
Model and
Application

Ref
No.

Part
No. Description

No.
per
row Wt.  

2800
Rigid

2800
Folding

List
Price

28002 Basket Assembly - Complete 1 230 X X $1,512.00

3 11145 Basket 1 X X $382.50

4 90340 Bearing 2 bolt flange - Complete 2 X X $63.50

5 90101 Zerk, 1/4 threaded 2 X X $0.24

6 90310 Sealed Bearing 2 X X $43.00

7 90136 Bolt ½ NC x 1 ½ NC 4 X X $1.04

8 90134 Washer 1/2" Lock 4 X X $0.24

9 90138 Nut 1/2" NC 4 X X $0.20

10 90341 1/4" Chain, 12 lengths 2 X X $5.00

11 90173 Bolt 3/8" NC x 1 1/4" 4 X X $1.54

12 90224 Washer 3/8" Flat 4 X X $0.45

13 90121 Washer 3/8" Lock 4 X X $0.07

14 90118 Nut 3/8" NC 4 X X $0.09

15 11139 Swing Arm 1 X X $405.00

16 90332 Bushing/Bronze 3/4 x 1 x 1 1/2" 2 X X $6.10

17 11156 Bolt 3/4" NC x 14 1/8" ALT 1 X X $19.00

18 90167 Washer 3/4"Flat 1 X X $0.52

19 90343 Nut 3/4" NC Nylock 1 X X $0.58

20 11157 Lift Arm, 1 X X $425.00

21 90342 Bolt 3/4" NC x 2" 2 X X $1.55

22 90167 Washer 3/4" Flat 2 X X $0.52

23 90158 Washer 3/4" Lock 2 X X $0.27

24 90160 Nut 3/4" NC 2 X X $0.47

25 90161 Bolt 5/8" NC x 2" 2 X X $1.17

Effective Date: 01/01/24 *Prices subject to change without notice



Cotton Puller Parts List: 2

Ref
No.

Part
No. Description

No.
per
row Wt.  

2800
Rigid

2800
Folding

List
Price

26 90228 Washer 5/8" Flat 2 X X $0.48

27 90123 Washer5/8" Lock 2 X X $0.22

28 90137 Nut 5/8" NC 2 X X $0.52

31 11116 28" Disk blade Only 2 41 X X $293.00

32 11153 Blade Angle Only 24 1 X X $6.00

33 90120 Bolt 3/8" NC x 1" 48 X X $0.20

34 90313 Nut 3/8" NC Flanged Lock 48 X X $0.10

35 11154 28" Disk Blade Left - Complete 1 53 X X $375.00

36 11155 28" Disk blade Right - Complete 1 53 X X $375.00

37 11152 Axle Weldment Right for 28" disc 1 25 X X $295.00

38 11151 Axle Weldment Left for 28" disc 1 25 X X $295.00

39 90310 Sealed Bearing 4 X X $43.00

40 11130 Spacer - Sealed Bearing Hub 2 X X $15.60

41 11140 Hub - Sealed Bearing 2 X X $98.00

11123 Hub Complete with sealed bearings 2 X X $195.00

42 90134 Washer ½ Lock 12 X X $0.24

43 90337 Bolt ½ - 2 ONF x 1 ½ 12 X X $0.45

44 90311 Bushing 1 1/4 x 1 7/8 10 GAZ 2 X X $1.05

45 90312 Nut 1 1/4 NF Nylock 2 X X $4.95

46 90331 Bolt 1" NC x 12 1 X X $16.50

47 90148 Nut 1" NC 2 X X $2.07

48 90220 Washer 1" Flat 4 X X $0.88

49 90154 Nut 1" NC Nylock 2 X X $2.80

50 90151 Bolt 5/8" NC x 3" 4 X X $1.86

51 90123 Washer 5/8" lock 4 X X $0.22

52 90137 Nut 5/8" NC 4 X X $0.52

53 11012 Vertical Height Bar 2 X X $65.11

54 11019 4x4 Clamp Complete 2 X X $161.00

Effective Date: 01/01/24 *Prices subject to change without notice



Cotton Puller Parts List: 3

Ref
No.

Part
No. Description

No.
per
row Wt.  

2800
Rigid

2800
Folding

List
Price

55 90412 Bolt 5/8" NC x 1 ½ sq Hd X X $1.23

56 11020 Clamp 4" x 4" X X $114.00

57 11024 Clamp Bracket 4" x 4" X X $46.50

58 90220 Washer 1" Flat X X $0.88

59 90148 Nut 1" NC X X $2.07

11605 Parallel Linkage Complete - Ad for basket 1 X X $630.00

59 11142 4" Tool Bar Weldment 1 X X $247.00

60 11047 Bolt 3/4" NC x 12 7/8" 4 X X $19.00

90332 Bushing/Bronze 3/4 x 1 x 1 1/2" 8 X X $6.10

62 90167 Washer 3/4" Flat 4 X X $0.52

63 90343 Nut 3/4" NC Nylock 4 X X $0.58

64/65 11026 Parallel Linkage Weldment 2 X X $46.00

66 11025 Angle Bracket 1 X X $56.00

67 11118 Angle Bracket with Bolt Strap 1 X X $56.00

68 90139 U Bolt 3/4 NC x 7 1/8 x 8 5/8" 2 X X $13.00

69 90158 Washer 3/4" Lock X X $0.27

70 90160 Nut 3/4 NC X X $0.47

90110 Bolt 1" NC x 4 3/8" X X $6.50

90109 Top Link Bushing X X $7.50

90128 Washer 3" Flat X X $0.84

90111 Nut 1" NC Deformed Lock X X $2.88

90113 Hitch Pin CAT 2 & 3 X X $50.00

90114 Hitch Pin CAT 3 $46.60

90000 Lynch Pin 3/8" x 3" X X $1.09

Effective Date: 01/01/24 *Prices subject to change without notice


